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QUESTION 1
Which of the following is TRUE?

A. Confirmation testing is testing fixes to a set of defects and Regression testing is testing to establish whether any
defects have been introduced as a result of changes.

B. Confirmation testing is testing to establish whether any defects have been introduced as a result of changes and
Regression testing is testing fixes to a set of defects.

C. Confirmation testing and Regression testing are both testing to establish whether any defects have been introduced
as a result of changes

D. Confirmation testing and Regression testing are both testing fixes to a set of defects.

Correct Answer: A

QUESTION 2

Which of the following BEST describes the difference between an inspection and a walkthrough?
A. Both inspections and walkthroughs are led by the author.

B. An inspection is led by a moderator and a walkthrough is led by the author.

C. Both inspections and walkthroughs are led by a trained moderator.

D. A walkthrough is led by the author. The author is not present during inspections.

Correct Answer: B

QUESTION 3

What determines the level of risk?

A. The cost of dealing with an adverse event if it occurs.

B. The probability that an adverse event will occur.

C. The amount of testing planned before release of a system.

D. The likelihood of an adverse event and the impact of the event.

Correct Answer: D

QUESTION 4

Latest ISEB-SWTINT1 Dumps | ISEB-SWTINT1 Practice Test | ISEB-SWTINT1 Study Guide 2/5


https://www.pass2lead.com/iseb-swtint1.html
https://www.pass2lead.com/iseb-swtint1.html
https://www.pass2lead.com/iseb-swtint1.html

P 2L d https://lwww.pass2lead.com/iseb-swtintl.html
aSS ea 2023 Latest pass2lead ISEB-SWTINT1 PDF and VCE dumps Download

—— https://Pass2Lead.com

Which of the following defines the expected results of a test?
A. Test case specification.

B. Test design specification.

C. Test procedure specification.

D. Test results.

Correct Answer: A

QUESTION 5

Which of the following is a benefit of test independence?

A. It does not require familiarity with the code.

B. It is cheaper than using developers to test their own code.
C. It avoids author bias in defining effective tests.

D. Testers are better at finding defects than developers.

Correct Answer: C

QUESTION 6

As part of which test process do you determine the exit criteria?
A. Test planning.

B. Evaluating exit criteria and reporting.

C. Test closure.

D. Test control.

Correct Answer: A

QUESTION 7
Exhibit:

i. Regression testing is run ONLY once

ii. Regression testing is used after fixes have been made.
iii. Regression testing is often automated.

iv. Regression testing need not be maintained.

Which of the items displayed in the exhibit are characteristic of regression testing.
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C. i, iii, iv.
D. iii.

Correct Answer: B

QUESTION 8

Exhibit:

1. Investigate the organization’s test process

ii. Conduct a proof of concept.

iii. Implement the selected tool on a project behind schecule to save time.

iv. Identifv coaching and mentoring requirement for the use of the selected tool.

Which of the activities in the exhibit should be performed during the selection and implementation of a testing tool?

A, i, i
B. ii, iii, iv.
C. i, iii, iv.
D. i, ii, iv.

Correct Answer: D

QUESTION 9

What is the MINIMUM combination of paths required to provide full statement coverage?
A A

B. ABD

C. ABCD

D. ACD

Correct Answer: A

QUESTION 10

What is the MAIN objective when reviewing a software deliverable?

Latest ISEB-SWTINT1 Dumps | ISEB-SWTINT1 Practice Test | ISEB-SWTINT1 Study Guide 41/5


https://www.pass2lead.com/iseb-swtint1.html
https://www.pass2lead.com/iseb-swtint1.html
https://www.pass2lead.com/iseb-swtint1.html

P 2L d https://lwww.pass2lead.com/iseb-swtintl.html
ass ea 2023 Latest pass2lead ISEB-SWTINT1 PDF and VCE dumps Download
—— https://Pass2Lead.com

A. To identify potential application failures by use of a test specification.
B. To identify defects in any software work product.

C. To identify spelling mistakes in a requirements specification.

D. To identify standards inconsistencies in the code.

Correct Answer: B
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